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c RKBEESTHI—Y
- M|FHEZES ¢ tABCDE (ABCDE|X, BEHEZX#Z T FEW)
- M IL—7" gtoo
« X FHERER
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= ZBhR - FortrankREB 7 7 A )L ¢
mpi-samples.tar. gz

e tar ’C&Eﬁé& FNENOEEZHOT AL 7 FNUDMELNS
c c/ . CE&8
- fortran/ : Fortran 95/
c FRRT7FAILDE EIHAT
/work/gte0/z30118/MP1
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Yo 707075 L0EE (1/2)

XITLTHo 237 ME $ URICEFTEHL THET
¢+ R—IFAADANIED 5725 [Enter] F—%FL TS

1. Lustre7 7 4 L AT LIZHBEH)
$ cd /work/gt0ee/tABCDE # THRERIZB 2 DIDICEE

2. /work/gtee/z30118/MPI |[ZHB Y77 74 I)IL%xaE—
$ cp /work/gtee/z30118/MPI/mpi-samples.tar.gz .
mpi-samples.tar.gz & . (Fvy k) OEICFARAR—X

3. Y77 7MLz RFAE
$ tar xvf mpi-sample.tar.gz
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o770 5 L0EE (2/2)

4. mpi-samples T4 L7 FUICAD
$ cd mpi-samples
5. BADEWEZWEEBDT 4 L7 FUICAS
$ cd c # CEEZFERT 555
$ cd fortran # FortranZ{EF3 2155
6. Y T7NT7R0T 7L (@ENDSEXT) B’H5HI & zHER
$ 1s
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Y77 ns 7 A

*0 hello

*1 hybrid

2 sum_relay

3 sum_binary
*4 sum_reduce
5 diffusion



Y T7ILTE

*0 hello



5 hkHello7 A7 Z L7z 2 /34 )L

1. @ hello 74 L7 FUICAS
$ cd @ hello

2. AV /XA )L
$ make

3. 77 714/ (hello) "TETWABZ & #HES
$ 1s
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a7 R7 YT rOEE (77 v FMPI)

=

c AR IZCEEE, FortranTH@E

#!/bin/bash )Yy —XJIV—7%: lecture-flat
#PIM
#PIM
#PIM
#PIM

#PIM

-L rscgrp=lecture-flat HE /) — P& 16/ — NMEA

-L node=16 ) 3

--mpi proc=1088 MPI7 A+t X%4: 1088 (= 68 * 16)
-L elapse=00:01:00 EATRERIBIRR : 1%

- t00 N o
° 0k MBTZIV—T%: gtoo

mpiexec.hydra MPI 3 7 %1088 0+t X THE1T
n ${PIM MPI PROC} ./hello




5 lkHello 7 B 7 5 LD ELT

e 37XV YT MZIX run.sh TYT

B LY 7ITlEF 2 —EH lecture-flat"IZiE > TL
BDTC, INZE“tutorial-flat"ICZEL LI WL

$ emacs -nw run.sh # emacs TiR&Ed 2%Ha
$ vim run.sh # vim THRET 255
$ nano run.sh # nano TimET 555

T aTEEA
$ pjsub run.sh
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5 fkHello 7’ A 7' Z L DFERIER (1/2)

1. BODKALT=Y 3 7 DIREEZ FERR
$ pjstat

2. aT7DEITIPERTITBEE, UTOT77AILDERINS
run. sh. OXOOXXX # IEEHA T 7 4L
run.sh.eXXXXXXX # BEIZ7—HAT 7ML

;37%4-[oﬂ-+737ﬂ)thv7ﬁ4w%tﬁofmi
3. BEHANT7 7ANVDOHFHERTH5B

$ cat run.sh.oXXXXXXX X
“Hello world!”#'1088 (= 687 0t X * 16/ —F) {TH NI

D%
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5 fkHello 7’ A 75 L DFERIER (2/2)

e HANLZL T ETE-8, AEIZ1088EHE DI NTWBHIFEZEL /=L
>Hello worldD{E#Z=#Z LT 5

$ grep Hello run.sh.oXXXXXXX | wc -1

1088 & R R NlF0.K.

o | (A7) 1F, shift + ¥ (BFF—F—FTR ANV I7RXT v a)
c HANEIBIE DT, THAELERICE>TWLWABIERL-W
SHAOZzY — L THERT S
$ grep Hello run.sh.oXXXX | sort -k 4 -n | less
rank: @ HOiAE 5T, rank: 1087 Ti&h->TL \1lF0.K.
e less DERTREZERTITBICIE, g AN LT Enter 5% (quitdq)
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#include <stdio.h>
#include <mpi.h>

int main(int argc, char *argv[])
{
int err = MPI_Init(&argc, &argv);
int size, rank;
err = MPI_Comm_size(MPI_COMM_WORLD, &size);
err = MPI_Comm_rank(MPI_COMM_WORLD, &rank);

printf("Hello world! rank: %d¥n", rank);

err = MPI_Finalize();

return (0);

i 5| fRHello 7 A 75 L DR (CEE)

27 AL AATOTOT T LERE

MPID#)EA{L

270t 2ETE
(&5 > cHBEDOE)

B9 D ID% ENiE
(&5 vV TEL A(E)

MPIDIRT



5 kkHello 7 B 7 < L D ERER
(Fortran)

270X DT AT T L%EIE

program main

use mpi
implicit none
integer :: err MPIO)’J@JIHH'TK
integer :: size, rank o W y
: ©7 0+ 2% IS
call MPI_Init(err) (&5 > 7 THBEDE)

call MPI Comm size(MPI_COMM WORLD, size, err)
call MPI _Comm_rank(MPI_COMM WORLD, rank, err) géj\ODID%HXT%

(&5 vV TEL A(E)

print *, "Hello world! rank:"™, rank

call MPI Finalize(err) MPI@%%T

stop
end program main
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c LITD21BY OEITERAH Y £
1. Ny F 3 TELT
e Ny FI a7 RTALAICNEBEZEKTE L TEIT
e ETLI-WAEBEZ 7 7ML (a7 RV YT ) THER
o XN VEIET—IRE
o KIFREITH
« OFPTIL, =A2048/ — F (1392642 7) , 24BFMF T
2. A VRTI9T 472 aTELT
e PCTCOE[TDOLHIZ, A~ FEAHL TEFT
« XN VIRETIE—RATIZA L
« T/ JH, KREETIEFTERL
e 1/—F (6807) : 2B T
e 16/ —F (108807) : 109X T
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Oakforest-PACST®D Y 3 7FE1T (2/2)

2DDEBHBAXAEYE—RKZFE

E

1. Flat®— K MCDRAMc‘:DDR4)‘ T @RI 7 XA]EE
2. Cache®— F: MCDRAMEDDRAX EY DF v wvira s L TEIL

e X 7F% 1 —|2l%, -flat,

-cache ZZNZNHE

c HBERT NV ETH, FlatE— FZUAEZEXT
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Ny FF21—DERENIE

[T

c OFPTOD /Ny FALE (X, ELBEDONYF AT LTEE
FEOTURN
« 37 DA pjsub < a TR UT RG>
c BOMERALTZY 3 7OIRRFESR: pistat
BT a3 7DHIBR: pjdel < 3 71ID>
c 5E/ —FDIAHESE%ZR%: pjstat --nodeuse
e Ny FXxa1—DREZR S: pjstat --rsc
« Ny FXa1—DFMERZTRS: pjstat --rsc -x
cTIToNTWEY a3 7#%ER%: pjstat --rsc -b
s BEDWANERZR%: pjstat -H
s FIFICIKATZESE - RITTEBHERS: pjstat --1limit
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BETDFXFa1— - JIL—T4

s KiBEESHDF 1 —4
e tutorial-flat

« ;R K159 £ T

e K/ —F#16/ —F (1e8837) T

 RBESRTEDF 2 —4
e lecture-flat
« MR MHtutorial-flat & FlHk

« JIL—T7%: gtoo
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KEFEREROHDY a7TORITT
(RTvy7va7, Fz—>r37)

« 37XV YTk god.sh MEIZ gol.sh, go2.sh, &&IF7-W
c XTvT7Ta7 (FhEFz—rrar) WS
« Dakforest-PACS ICHITBRTv I a7oiTA

1. $ pjsub --step go0.sh
[INFO] PJIM 0000 pjsub Job 800967 © submitted.

2. FEDT 371D (800967) ZHWT, UTD LI ITHEA
$ pjsub --step --sparam jid=800967 gol.sh
[INFO] PJIM 0000 pjsub Job 800967 1 submitted

3. WUBFIXRIER
$ pjsub --step --sparam jid=800967 go2.sh
[INFO] PJM 0000 pjsub Job 800967 2 submitted
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MPIZ A4 5 LEH]

* STV L TWAB 7RI 7 LZE8H L THD

cIFIFERLTWA SO T LICMPIEIE % S

* MPI_Send()
* MPI_Recv()
* MPI_Reduce()

K



Y T7ILTE

*1 hybrid



INAT Yy FEFNRZTAT S LEV /54 IL

1.1 hybrid T4 L7 FUICAD
$ cd 0 hybrid

3. 77 74 (hello omp) AATETWBZ & %
$ 1s
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YaZ7RI VT FOHREA
(OpenMP/MPI/NA 7Y v FhR)

s AR IZCEEE, FortranTHHB

— )Y —R TNV —T7%: lecture-flat

—FEB/ — K #: 16/ — FEH

MPI7 A+t X$: 16

OpenMPA L v R#1: 68

— ETEREGHIE: 19

mpiexec.hydra — Al FH 7 )L — 70,55 : gtoo

-n ${PIJM_MPI PROC} ./hello_omp . . . L,
—MPIY 3 7 %167 Ot X THEIT




NA T Yy FIEFRRHello 7 B 7 5 L DZET

e 37XV YT MZIX run.sh TYT

B LY 7ITlEF 2 —EH lecture-flat"IZiE > TL
BDTC, INZE“tutorial-flat"ICZEL LI WL

$ emacs -nw run.sh # emacs TiR&Ed 2%Ha
$ vim run.sh # vim THRET 255
$ nano run.sh # nano TimET 555

T aTEEA
$ pjsub run.sh
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NA T Yy Riati5kkHello 7 B ¥ 5 L DFESR

1. B RA LY 3 7 DIREEZ FERY
$ pjstat

2. Va7 DETHIRTITBRE, UTOT77A4ILDERKRIND
run. sh.OO0OXX # BEHAT 7 AL
run.sh.eXXXXXXX # BEIZ7—HAT 7ML

;37%4-[oﬂ-+737ﬂ)thv7ﬁ4w%tﬁofmi
3. BEHANT7 7ANVDOHFHERTH5B

$ cat run.sh.oXXXXXXX
“Hello world!”"h'1088 (= 68X L v K * 167 At X) {THN

[ LN
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Y77 ns 7 A

2 sum_relay
3 sum_binary
*4 sum_reduce



N
A

JE EERE C MPIE AW TS L L THA B

A

e 7077 LD—EEENT, WiMkETE T I TSI W
e sum.[c f90] PEZERH 7 74/, ref sum.[c f990] HEEH|ITT
RIEE 005 L (BREEAR)
« MPI_Send(), MPI Recv() D{ER (2_sum_relay)
- HABEE OV 7 L (ZHRBEAR)
« MPI_Send(), MPI Recv() D{EF (3 _sum_binary)
 RFIEE A2 5 L (MPI_Reduce{EF)
« MPI_Recv() DfEMA (4_sum_reduce)




Iy
my
liyy

/

7AINEERZEFDOYY) BFZTE

EE 7 T7AIINEAVINAIL « EXEF|HE /NI
Makefllegﬂﬁd) REF D{T% Makefile§E5ED REF Di{T%
aX> b7 FL, make M L7-F £ make

# switch of excercise/reference (comment out | # switch of excercise/reference (comment out
for excercise) for excercise)
# REF := ref_ REF := ref_

~N /77
\m
(Ul

## environment # environment
CC := mpiicc CC := mpiicc

# option(s) # option(s)
CFLAGS : CFLAGS

# source(s) # source(s)
SRC := $(REF)sum.c SRC := $(REF)sum.c




N2

%’b\iﬁn;if§7 |: 7\\5 AO)I_I_I//[T (2_, 3)4/\L-_>

e 37XV YT MZIX run.sh TYT

i L=V 7IILTlEF 2 —E»" lectur‘e flat"ITH > TW
HDT, ZNZ"“tutorial-flat’lZ EL’C<71$\,\

$ emacs -nw run.sh # emacs T%}Ez:—é—%

$ vim run.sh # vim ’C‘%@E%T%%fﬁ\

$ nano run.sh # nano TimET 555
e« /N1 )L

$ make

U aTv A
$ pjsub run.sh

2020/10/13 EES  MPIER
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mAEE 07 7 4L (EREZEAT)

X T7OVRIPRBET DT —4%, ©70XTMEL, HBHRE
TWWEMO#F%%%ET%*”%%K%

« T E (BREEAT)
1. (EBE70vXTchHITNDE) EBEo70vXrbTr—X%2{E
2. [BEon7—4%]) & [ZE7—%) =&

3.%%%7mtzf@TMi)EM®7mtz ICINE®T — 42 %

4. AL

]]II|

M

s




Ny L—aR) 1245

AT — % AT — %
1 3
CPU Z CPU 5
i1 i1 %1

BRISHE SR
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Y
\

5)

e write program_recv; write program send; & 74> TUWLBEP
NEERELTLIEE N
« £ (rank - 1) DAL BEZSZITERY, BB (rank + 1) DAITES
« ZNZMNMPI_Recv(), MPI Send() ZHAWLWNITLWLTT

il

WIEE 7077 LEE (CE

/* receive partial sum */

MPI_ Status status;

int recv =

/* receive partial sum from the left process (= rank -
1) and put it to "recv" if the left process exists (i.e. rank - 1 >= 0) */
write program recv;

/* send sum */

int send = rank + Pecv;

/* send current sum "send" to the right process (= rank + 1) if the right process exist
s (i.e. Pank + 1 <= size - 1) */

2@2_@ EES I MPIER 47
e program send;




A EE 7 A7 7 LDES

*write_program_recv, write program_send & 78> TUWL3B A4S

| LI
éﬂ

(Fortran)

AN

% %

S LT W

« £l (rank - 1) DAL BEZSITEY, BB (rank + 1) DAIZIES
« ZNZMNMPI_Recv(), MPI Send() ZHAWLWNITLWLTT

I''$ receive partial sum

recv =

%)

I''$ receive partial sum from the left process (= rank -
1) and put it to "recv" if the left process exists (i.e. rank - 1 >= 0)
write program _recv

I1$ send sum

send =

rank + recv

I''$ send current sum "send" to the right process (= rank + 1) if the right process exi

sts (i.e.

rank + 1 <= size - 1)

wpit®/ program_send BES  MPIER 48



AEE 7 A7 7 LDOERES (CFFE)

.Eﬁﬁ_lﬁ (r‘ank ﬁEI/H\) tEﬁﬁuﬁ (Pank - Size - \/\\\>
0)7°IZI—EXL")L\’C [ TFFRIR N D E

« X T DEIXEE (FEHITIIEETOLRDT V)

/* receive partial sum */
MPI Status status;
int recv =
if(rank > 0)
err = MPI _Recv(&recv, 1, MPI INT, rank - 1, rank - 1, MPI_COMM _WORLD, &status);

/* send sum */
int send = rank + recv;
if(rank < size - 1)
err = MPI_Send(&send, 1, MPI INT, rank + 1, rank, MPI_COMM _WORLD);




WAEE QT 7 LDOEZEA
(Fortran)

.Eﬁﬁ_lﬁ (r‘ank ﬁEI/H\) tEﬁﬁuﬁ (r‘ank - Size - \/\\\>
0)7°IZI—EXL")L\’C [ TFFRIR N D E

« X T DEIXEE (FEHITIIEETOLRDT V)

I''$ receive partial sum
recv = 0
if(rank > @) then
call MPI Recv(recv, 1, MPI INTEGER, rank - 1, rank - 1, MPI_COMM_WORLD, status, err)
end if

I'1$ send sum
send = rank + recv
if(rank < size - 1) then
call MPI_Send(send, 1, MPI INTEGER, rank + 1, rank, MPI_COMM_WORLD, err)
end if




WAEE R 7 L (ZTHKRBEAR)
e @—@ 00 00 0-0O
2 B 5 & >@) (5

3 xH =log, 8 H

2222222222



“OoONBEAREEZLEOTIX

« (UTORBIEY 77077 L3 sum binary/ TIEEZEZFH)
. 7°EI—EZ>§750)21’§ MEREEDIEHRZ FFE

% 1 RICBEVWTIRETE7AERDEH:
r‘ank & disp H' disp & —EK

« 7272 L, disp = 27~(1i - 1)
s 7O REBESD2EHRKELT, AL 0iEHOEY FAIL->TWWE7AEX
T — R DEETTIE rank - disp D7 O+ X
c BEDWRILT D7 ALXESOMEE: disp = 27(i - 1)
c FETOLRDEHEIZOWTHREFRIZEZNIT L W
T — X X5 1Z1E] D A




%uﬂ;[l/,\%7 [ 7 - Ad);ijj

/* summation based on binary tree manner */
MPI Status status;
write program recv; RSV

. int send = rank;
write _program_send; [Fitarpsamry

S AR T =l or(int ii = 0; ii < log2p; ii++){

S+ R \ if((rank & disp) == disp){

Al [-/T < 7L‘- é L /* receive partial sum from the pair process (= rank -

rank - disp 070t R
A H biE% R1E, e recws

send += recv;
rank + disp ~N&IX[F }disp = 1;
* MPI_Recv(), else{

/* send current sum "send" to the target process (= rank +
disp) */

write program_send;

break;

MPI “Send() Z={E-T
ETEET

H}j

£ MPTEM 53



wIEE 7’07 7 L0OEE (Fortran)

I''$ summation based on binary tree manner

* write program recv, recy

write program send send
LSO TWHENER
S+ o o ii =0, log2p - 1
=< [./ T < 7L\_ é LY if(iand(rank, disp) == disp) then
. o 11$ receive partial sum from the pair process (= rank
* rank - dlSp D7 0w - disp) and put it to "recv"

ADH rQ'f %\—_’ ;'fﬁ, write program_recv

rank + disp ~&IX(E Zizg ZiZS  recy

. else
MPI RECV(), 11$ send current sum "send" to the target process (= r

MP1I Send() 75:1%’) T ank + disp)
==t EENE = F 9 write program_send

exit
end 1if
end do #E4 - MPIEME




%’bjﬂ:l /,\%7 H 7 7 LD %@U (C

« XTIZOWTIE, RT—I T LLICERBEICHE

/* summation based on binary tree manner */
MPI Status status;
int recv = 0;
int send = rank;
int disp = 1;
for(int ii = 0; 1ii < log2p; ii++){
if((rank & disp) == disp){

err = MPI_Recv(&recv, 1, MPI INT, rank - disp, rank -
disp + ii * size, MPI_COMM WORLD, &status);

send += recv;

disp <<= 1;

}

else{
err = MPI_Send(&send, 1, MPI_INT, rank + disp, rank + ii * size, MPI_COMM_WORLD);
break;

2??@/10/13 #EES  MPIER 55



%ijﬂ:l /,\/5—7 [ 7 7 LD ’IZ:'Z:'@'J
(Fortran)

e XTI ODWTIFERT = T EICERBEICED LD IZITEX

I''$ summation based on binary tree manner
recv =
send rank
disp = 1

do ii = @, log2p - 1
if(iand(rank, disp) == disp) then
call MPI_Recv(recv, 1, MPI INTEGER, rank - disp, rank -
disp + ii * size, MPI_COMM _WORLD, status, err)
send = send + recv
disp = disp * 2
else
call MPI Send(send, 1, MPI INTEGER, rank + disp, rank + ii * size, MPI_COMM_WORLD, err)
exit
end if

end do
2020/10/13




%bjﬂ:l \H_I%:7 H 7\\3 NI - ) X\\AJ:[:E%_E

s XRERIEXFT I : N,—1 [0 ZITBET S
° :/\7k 1|:|/7 I\:
c RE : BEERTOBEIITRICEINIETIND BEOERIEIFHRELAL)
« BRI = logy(N,) EINBERKE 43
BERIED LR
s 7O REHPEZ B L, BERBDE (~FITHEOE) HIEX
* Ny = 1024 (= 2") DB &SI, 1023[@] Xf 10[0

L, BEHRBEFRASRLE VS REEEAL
(BIE@HRHNSFT 5 et




WAEE 707 7 L (MPI Reducef#

* MPI_SUM

i)

ZHREI NSRRI ZETETZEDDT, MPI_Reduce()

ZHWTERZT 30N —FHE
°7477UMTELﬂ1wJUZA% RIRI B /-
WEHERfF I N5

«c SETEPTEEL TW=E9%, MPI Reduce() %

L THATLEZTWL

7AIVIE 4 sum _reduce/ IZHY FT

1LNTC3

b, THBLDOAHR

/"



INEE 075 LDEYE (CEE)

e write program; &7 o TWBEHEFEEL TLIZE L

* MPI_Reduce() ZfFE->T<L7=ZE L

erank = @ D7 OEAPERZEFIHLHICLTLAZTW
e send DIRF% recv ITHINL T A& W

/* calculate the total sum by using MPI_Reduce */
int send = rank;
int recv =

/* calculate total sum of "send" and put the answer to "recv", only the root process
(rank = @) receives the result */
write program;




\

wIEE 7’07 7 L0OEE (Fortran)

ewrite _program &> TWAEDZEREL TLZIL

* MPI_Reduce() ZfFE->T<L7=ZE L

erank = @ D7 AERDPERZHFREFTHLHICLTL ATV
e send DFEFZ recv ITHEML TSI W

I''$ calculate the total sum by using MPI_Reduce
send = rank
recv = 0

I''$ calculate total sum of "send" and put the answer to "recv", only the root proce
ss (rank = @) receives the result
write program




MHEE 07 5 LDOEER (CE:E)

e T—RBIN int DT, MPI_INT %3IE5%E
c ¥eFZKk&H B DT, MPI_SUM ZIETE
c SVURIERAERT DT, 0%IETE

/* calculate the total sum by using MPI_Reduce */
int send = rank;

int recv = 0;
err = MPI_Reduce(&send, &recv, 1, MPI INT, MPI SUM, @, MPI _COMM _WORLD);




WANERE 7 AT 7 LDEEA
(Fortran)
e T—XEIH integer DT, MPI_INTEGER %357E

« FH KD B DT, MPI_SUM %#I8%E
« SV URIHERAEIRT DT, 0%IETE

I''$ calculate the total sum by using MPI_Reduce
send = rank

recv = 0
call MPI _Reduce(send, recv, 1, MPI_INTEGER, MPI SUM, ©, MPI _COMM_WORLD, err)




A wWw N R

. RERFEORAXE (= 2FDET

/

3 RITBMOMESE (C(SH

BIERBEIC, 27 A XDREE% &% (MPI_Barrier)

QLL
/7 \\

el

. IBERZ ZEE (MPI thmeuﬂdbléeﬁ*ﬂz’c%ﬁh\) L, 413

AENROUMBIAEDO TR A 7T, FHzERS

'I_I_I

err = MPI Barrier(MPI_COMM WORLD);

double t ini = MPI Wtime();

double t_fin = MPI_Wtime();

double elapsed = t fin - t_ini;

err = MPI_Reduce((rank > @) ? &elapsed : MPI_IN PLACE,
&elapsed, 1, MPI DOUBLEJ}MPI MAX ©, MPI _COMM _WORLD);

MJ |

Ff) ZMPI_Reduce CTHYS



H T ETEROREASE (Fortran)

e NS5 TWARZELIFICEZIRERLUED, 3EEEFAELGWLWER

call MPI Barrier(MPI_COMM_WORLD, err)
t ini = MPI_Wtime()

t fin = MPI_Wtime()
elapsed = t fin - t ini
if(rank /= @) then
call MPI Reduce( elapsed, elapsed, 1, MPI _DOUBLE_ PRECISION, MPI MAX, ©, MPI
COMM_WORLD, err)
else
call MPI Reduce(MPI IN PLACE, elapsed, 1, MPI_DOUBLE PRECISION, MPI MAX, ©, MPI
COMM_WORLD, err)
2endhoir HBA  MPIER 64




MAEE AT 7 LDF LD

cETEEEANAELWZ EZIERLTLEIL
;d' TR IFEAERELR T (run.sh.oXXXXXXX) ICEANTWET

BY O ETREKR LICHRIIEEORITIEZERL TSV
- MIEEH D ORITRHMITEEHRNICEINTVET
BELLEZXZUTbTE, 7RSS LESEEGRTLET

-—é@#o#% %ﬁ%ﬁtﬁa%m,$%ﬁ%ﬁ%ﬁa¢%%é@
ERHYVFET (S50 T—XZEY -ULAIZIE L TEYISEIR)




MPIE{TEO U XA L 7 K

* Oakforest-PACSR —/¥— ¥ E'2 —R Y X T LTH,
MPIEITERDAEAD Y XA L 7 b HTEXT

« 5l : mpiexec.hydra ./a.out < in.txt > out.txt

« REF1 5 diffusion ® gen.sh, run.sh TIXADZUXA L
7FLTWET



MRE7 O 7 745

 Oakforest-PACS
e Intel Vtune Amplifier
« PAPI (Performance API)
* Oakforest-PACS PAZ A 7 Z Y

» Ffll ldWeb R—Z o [FFa XV MHE] D
Oakforest-PACS > AT LAHFS|Z

7.1. T F—T VRSV — L

x7-1%

Oakforest-PACS PAZA 7 Z UFEHATA F
B LTI W
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MPI7 A7 7 L3

« 2R T TR T

« MPI_Bcast()
« MPI_Send()
* MPI_Recv()
« MPI_Scatter()
« MPI_Gather()

—_ \/
Iy




Y T7ILTE

5 diffusion



2 RITILEX AR

s XEAEX (WEEu, a> 0FHBURE)

ou _ av?
‘ 7 = aV-u
c —HIVVTNBREMEER (EDOh=4x=A4yT %)
a At
u{ffl = u?] + 7 (u{fj_l + u{fjﬂ + u?_l,j + u?ﬂ’j — 4ufj)
« LTEMSRG :
_adt N a At - 1
YT 0T (ay)? T2



Li— & —1ER B

«$ ffmpeg -r 30 -i fig/map%03d.png -vf
scale=“trunc(iw/2)*2:trunc(ih/2)*2”
-vcodec 1libx264 -profile:v high
-X264-params slower -pix_ fmt yuv420p -g
30 map.mov

-;QWU IF7L—LL—F%30 fps & L7-

iTT7/3/%FéQ<T%A E— I fEN B B

Td%ﬁofﬂﬁ ZIEHIALE S £®W%%H
'E@Wi ﬁAﬁ%,Hﬁﬁﬁ% W%&E
oz ELTD%@T STl HLA — 7z 1E
HIZIE/INT A —RXxBi ET%MK%U

« BET7 714)1E global.cfg

e 1024%1024 X v > 2 (7O AMHLZETET S)

« X+ v 73y FEIFEIZ0.00390625

2020/10/13 EES  MPIER
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|l

~N /77
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(Ul

H
Rrd
RTHEARRDY I 2L —aya—FzAEFME L TL 2
= Uy
e TICHB 707 F LlE 5 diffusion/src OFIZA->TWET
e Y —ROA—FlIMgeZ L ICHEI SN TWET

c LNERY éﬁ:%zﬁ'”l:c‘: WD DIFFEREICKERD T...
cBL7HILED ref HoMFED 7 7ANEHEIHLEAY > TILTT
« Makefile (I ref_ DX 774N ZE-TAV/NAILTBHLDITHE-
TWBDT, MEFDT7 7AIIITILT 25721 Makefile ZEE
Bz nlL, PLI DAL L T ZEAAIRETT
e (ref DE77ANMFAXIML L= Fva—-Faon<, WIA
EADHOBENWEXITIFE Y FELTE-TLEETW)

-l




Y T7ILTE

*$ cd 5 diffusion

*$ make dir

e $ make

*$ pjsu

* %
$

DJjSu

DJjSu

2020/10/13

b gen.s
D run.s

b plt.s

# O IC

#

N #

N #

72 LD

umi

H LA

=/,

bin/diffusion,
n # #HAZF (dat/snpoee.dat) DERL
dat/snpoe8.dat ¥ THHIIINS
mRz a2t L, fig/ LATICHT

ATH

EES  MPIER

<17
bin/gen ic ZH&FRX
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=JLr==

XE 7714/ (global.cfg) DEL

c#t LUEITOA Y M BDT, EED7 7 A IIZIZED KL
128 136 # x, y-ARADX v 28 (N, N,)
32 34 # x, y-HREOMPIZ B+t 2 (p,,p,)
0.0625 # ILEBUREL (a >0) DE

.25 # 7—7% (v<05) DfE
0.5 0.0625 # I al—YarvRTEANERFy T3y FEAMERE
0 #t HXEEITEZRFyTay b7 74 LES

* N lEZp, D, N,ldp, DEHET S (FEEPBNOREZHEICT 27-0)

c p Lp, DTEIFET AL A E—HKEE D (ZDHAICIZ1088)




v

SZE | BIRDOIRRNAE

 Oakforest-PACS (O A 9 BRIC -y DxTcOJ (Y
$ ssh -Y username@ofp.jcahpc.ijp
$ cd /work/gte@/username/../fig
$ eog map@ee.png &
E  Cygwin Aol T DAETIE"cannot open display" & &
HONTEERAKRTTCEEZEA

« FILDOPCICER 7 7 /)% 2 — L TEHRR
$ rsync -av username@ofp.jcahpc.jp:/work/.../fig .
WindowsD 71, WinSCPEFE-TX 7o O—RFLTHBLTT
e rsyncAN T IEsFtp, scpf & (scpldOpenSSHRYIZIEHER LD Z &)

\
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mailto:username@ofp.jcahpc.jp
mailto:username@ofp.jcahpc.jp:/work/.../fig

Makefile DIREH

e STT&Z D Makefile - topology.c ZiR&ET HHE
# source(s) # source(s)
SRC_EXE := $(REF)diffusion.c SRC_EXE := $(REF)diffusion.c
SRC_EXE += $(REF)topology.c SRC_EXE += topology.c
SRC_EXE += $(REF)boundary.c SRC_EXE += $(REF)boundary.c
SRC_EXE += $(REF)scatter.c SRC_EXE += $(REF)scatter.c
SRC_EXE += $(REF)gather.c SRC_EXE += $(REF)gather.c
SRC_EXE += 1io0.cC SRC_EXE += io.c
c FLDHRIFEALEDT 7 AIILD « topology.c DEIIZH - 7=
< $(REF) Ao TS $(REF) %I% IS

« ©TD $(REF) HENNITFE

i



2R ToheS 7 —

X DEXTE

 HYUMBHB DT — X EEFRFHDT — X212 DEH IR

« IEREM ﬁﬁ?%(@7mﬂ%#ﬁé?%ﬁﬁ@)r R % BIEEHI
EERE A STET 2 ERO 2 E A TS

%%T%t
S [Al[INSLEEVE (= 1) DT —R %= RFT 3% LT AERITEN

°* =

YA el

2020/10/13
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EEICH--T

-NSLEEVEOM $1& L TEREBRATT
EETIX src/macro.h T define L TWZE T
e Fortran Tl¥ src/macro.f99 TEEL TLWET

. EEE’C%’?XJE@E&"J%E)JE’J ZHER (L7‘-J::) ICREHNTB) D
3 bmElo7T, 1Rl EZRTiEINDLHICRAELT
U e AV

e src/macro.h T INDEX2D(nx, ny, i, j) &¢WS v/ 0% EE
LITFD2/8% — > DOEEHEAR

static int array2d[nx][ny]; static int arrayld[nx * ny];
for(int 1i = 0; ii < nx; ii++) for(int 1i = 0; ii < nx; ii++)

for(int jj = 0; jj < ny; jj++) for(int jj = 0; jj < ny; jj++)
array2d[ii][jj] = 1ii * j7j; arrayld[ INDEX2D(nx, ny, ii, jj)] = ii * jj;




IKIMERTE DEE

eI 2L —IgvVDETIZOWVTIE, rootDIAH A AL FEEE
e 27 OV AD > THELARZTFERIIMPIBEZHWVLWTHET S

e Xy afl, EENEDKRE, IERE, 7—78EE
e PS5 L

1. MPI_Bcast() ZFAWWTroothHE27 A XX L TT—R ZHEX




4j% nSZ;:? ‘/\~7%? ((:ng‘ Ei)

il

=
<

e diffusion.c H®D write program; & H 3EPD ZiRE
s HEITRNETLH:

nx_tot, ny_ tot, px, py, diff coeff, courant, final,

snapshot_interval, prev

/* broadcast configuration of the simulation to all processes */
/* broadcast nx_tot, ny tot, px, py, diff _coeff, courant, final,
snapshot_interval, and prev from the root process (rank = 0) to all

processes */

/* int MPI _Bcast(void *buffer, int count, MPI Datatype datatype,
int root, MPI_Comm comm) */

write program;




RIERTEDIER (Fortran)

AT

e diffusion.f90 D write program & & 2 ERD % RS
« HEITRETZH:
nx_tot, ny tot, px, py, diff coeff, courant, fin,
snapshot_interval, prev

I''$ broadcast configuration of the simulation to all processes
I''$ broadcast nx_tot, ny tot, px, py, diff coeff, courant, fin,
snapshot_interval, and prev from the root process (rank = 0) to a
11 processes

I''$ MPI BCAST(BUFFER, COUNT, DATATYPE, ROOT, COMM, IERROR)

11g <type> BUFFER(*)

g INTEGER COUNT, DATATYPE, ROOT, COMM, IERROR
write program




BIEMEFDOEFR

c XY 7N a—FTl, FTEEBEZ2RITHICHE|T S
c LTEATETZ27ACREDBEVRET D70, WILT 5
JAER I eHohLHRZITHEL
c FEARRERFZHZHEB L TWA Z LITER
« B BIHmDO A RDORTITEHRD 7A€ X
e BT L
1. BOD7RERZ 7 DxAR, yARICEITBIDZEE
2. BN LETA ORI VI RS




BIEHEFOZEEE (CEEE)

e topology.c D set process topology() =i#ms
« JF I HIIrx-1&FEET B L, rx=0DFEICER L R WEF)IC

/IIIII'

void set process _topology(const int rank, const int px, const int py,
int *rank_1, int *rank_r, int *rank_b, int *rank_t)

{
write program;
const int rx = ;/**< rx ¥in [0Q, px) */

const int ry = ;/**< ry ¥in [0, py) */

*rank 1 = ;/**< (rx - 1, ry), rx - 1 ¥in
*rank r = ;/**< (rx + 1, ry), rx + 1 ¥in
*rank b = ;/**< (rx, ry - 1), ry - 1 ¥in
*rank t = ;/**< (rx, ry + 1), ry + 1 ¥in




BEMFDEFE (Fortran)

 topology.f90 H®D set process topology() ZimE&
«E . HICrx-1&EET B L, rx=00HHICERLAEVWEHIZK S

subroutine set process_topology(rank, rank_1, rank_r, rank_b, rank_t)
implicit none

write program
rx = 1< rx ¥in [0, px)

ry = 1< ry ¥in [0, py)

rank 1 = !'l< (rx - 1, ry), rx

rank r = 1< (rx + 1, ry), rx

rank b = !'l< (rx, ry - 1), ry -

rank t = !l< (rx, ry + 1), ry +
end subroutine set _process _topology




RS DRE (FHPRE D ZHE)

ETHEEOEEBAEYTE T OERIHLT, TR A RS
5T L
1. XET— X %% (AT ZERLTERICABLSICEXTLRET)

2. MPIRA# AW TT — X %= %X={E (MPI_Send/MPI_RecvDiEAEHH,
MPI Sendr‘ecvd)ﬁﬁﬁ MPI Isend/MPI IrecvD{ERA#A L)

3. XEL7- (&) T —XzHRAXEFEROEIICEZRET



I

IR X DT

5)

« boundary.c H® set periodic boundaries() %* RS

il

(CE

AT

void set periodic _boundaries(const int nx, const int ny, float *dat, float *buf,
const int rank, const int rank_1, const int rank_r, const int rank b,

const int rank_t, const int py)

{

/* assign send/receive buffers */
write program;

/* prepare send buffer */

write program;

/* exchange sleeve regions */
write program;

/* copy from receive buffer */
write program;




IERZEHDIERTE (Fortran)

* boundary.f90 fMDset periodic boundaries() % &S5

subroutine set periodic_boundaries(nx, ny, dat, buf, rank, rank 1,
rank_r, rank b, rank_t, px)

AT

S assign send/receive buffers
write program

g prepare send buffer
write program

S exchange sleeve regions
write program

g copy from receive buffer
write program

end subroutine set periodic_boundaries



187 — X DEctHh

-« A% % root AMREKL T EJL&HX% E5E 3

c X7 OV ANEFHEXEDD-0DICIZ, BOMIBEY T HEEHO T —X
ST HUNELD D

QRTTEEB DT —REDT, XEY L TOT—ROALVHIZHEE

il

e B L
1. root 7A+X XA MPI Scatter() AICT —XZ2ILREET \
(rank OFHDO T —4%, rank 1ADT—%, ., rank n - 1HDODT—%X)

2. MPI_Scatter() ZHWTT—X %%
3. XUFE-7=-T— X%, ETERADBEYICHEIN



75— 20 #H (CE:E)

e scatter.c D scatter map() %imS

il

AN

void scatter_map(const int nx_tot, const int ny tot, float *map_ful, float *buf ful,
const int nx, const int ny, float *map_loc, float *buf loc,
const int py, const int rank, const int size)

/* prepare send buffer (only root process) */
write_program;

/* scatter the data */
write program;

/* copy from receive buffer */
write program;




5 —XDOfE% (Fortran)

e scatter.f990 D scatter map() %i#wE

il

AT

subroutine scatter map(nx_tot, ny tot, map ful, buf ful, nx, ny,
map_loc, buf _loc, px, rank, size)
implicit none

g prepare send buffer
write program

g scatter the data
write program

g copy from receive buffer
write program

end subroutine scatter_map



";%: 7__— X @”Xx

« XF w73y M& root MYEKRL THEADT BEE
e 27OV ANSTHEL T — X %root7 A RICEDHINENDH S
« DRITTEBDT —REDT, XEY LELTOT—XRDOAEVHFICHEE
N5 L

1. MPI_Gather() AHICT —XZAREEBT

2. MPI_Gather() ZFAWWTT—4% % root ICEH 3

3. root 7AE AN RITEN - 1cT — &2 %, ENBET
(RIET—%IE rank GADT—%, rank 1IHDT—%, .,
rank n - 1D TF—% WS EICHEA TLS)

il

|



H7r—2DINE&E (CE

« gather.c H® gather map() %iwmE

il

AN

void gather map(const int nx_tot, const int ny tot, float *map ful, float *buf ful,
const int nx, const int ny, float *map_loc, float *buf loc,
const int py, const int rank, const int size)

/* prepare send buffer */
write_program;

/* gather the data */
write program;

/* copy from receive buffer */
write program;




BTr—XDOUYNE (Fortran)

il

AN

e gather.f90 M gather map() %* RS

subroutine gather_map(nx_tot, ny tot, map_ful, buf_ ful, nx, ny,
map_loc, buf _loc, px, rank, size)
implicit none

g prepare send buffer
write program

g gather the data
write program

g copy from receive buffer
write program

end subroutine gather_map
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il
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’75\65‘6 IEEH (ref DZ2DT774I) DOERTY
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’t*i lﬂiznij:167:>,/\~:iff <:(:-E§;

e ref diffusion.c OF 5

MPI BcastTIE/ Ny 7 7 DEET FL XA ZIEEIT DD T, &=2lF5
e intT—&| :’)\,\’CCiMPI_INT, float%“—&L:OL\’CL;tMPI_FLOAT
ZBHODEZFZHAIAAT-DIE rank = 0 D7AE X

/* broadcast configuration of the simulation to all processes */
err = MPI_Bcast(&nx_tot, 1, MPI INT, ©, MPI_COMM_WORLD);

err = MPI_Bcast(&ny tot, 1, MPI_INT, ©, MPI_COMM_WORLD);

err MPI Bcast(&px, 1, MPI INT, ©, MPI_COMM WORLD);

err MPI Bcast(&py, 1, MPI INT, ©, MPI_COMM WORLD);

5)

il

err = MPI_Bcast(&dJiff coeff, 1, MPI_FLOAT, @, MPI_COMM_WORLD);

err = MPI Bcast(&courant, 1, MPI_FLOAT, ©, MPI_COMM_WORLD);

err = MPI_Bcast(&final, 1, MPI_FLOAT, ©, MPI_COMM_WORLD);

err = MPI Bcast(&snapshot interval, 1, MPI FLOAT, ©, MPI_COMM WORLD);
err = MPI_Bcast(&prev, 1, MRE INTH#0, MPI_COMM_WORLD);




RIERTEDIER (Fortran)

e ref diffusion.f90 OH 5

- integer7 — & IZ DL TIEMPI_INTETER,
real7T — X (2 DWW TIEMPI_REAL

c ZHDEZFTHPIAATZDIE rank = 0 D7 AL X

I''$ broadcast configuration of the simulation to all processes
call MPI Bcast(nx_tot, 1, MPI_ INTEGER, ©, MPI_COMM_WORLD, err)
call MPI Bcast(ny tot, 1, MPI_INTEGER, ©, MPI_COMM_WORLD, err)
call MPI_Bcast(px, 1, MPI_INTEGER, ©, MPI_COMM WORLD, err)
call MPI Bcast(py, 1, MPI INTEGER, @, MPI_COMM _WORLD, err)

call MPI Bcast(diff coeff, 1, MPI _REAL, ©, MPI_COMM WORLD, err)

call MPI Bcast(courant, 1, MPI REAL, ©, MPI_COMM WORLD, err)

call MPI_Bcast(fin, 1, MPI_REAL, ©, MPI_COMM WORLD, err)

call MPI_Bcast(snapshot _interval, 1, MPI_ REAL, ©, MPI_COMM WORLD, err)
call MPI_Bcast(prev, 1, MPI_INTEGER, @, MPI_COMM_WORLD, err)
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 ref topology.c OHH

*MPI7HEXZ2RTMICHE L RO LTEED /O R %ZEE
« £, TFAEICDOWTIZEIZ -1 §5DTIEAEL, px - 1 21X
7-#&ICpx TEI» 7R Z2RKHBH Z &£ T, BOEINEAT B L%
E1pl:

void set process topology(const int rank, const int px, const int py, int *rank_ 1, in

t *rank_r, int *rank_b, int *rank_t)

{

const int rx rank / py;
const int ry rank % py;

*rank_1 = INDEX2D(px, py, (rx + px - 1) % px, ry);
*rank_r = INDEX2D(px, py, (rx +1) % px, ry);
*rank_b = INDEX2D(px, py, rx, (ry + py - 1) % py);

* 9 .
zegea/?g(/‘l?t INDEX2D(px, py, rx, (ry %E/;\_I:\I/I-I%éﬁ Py ) ;

¥
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 ref topology.f90 DH &
*MPI7/ O RZ2RTEMICHRE L O L TEAD 7O X %ZETE
o 23,

-

2|
a5

TENCDOWTIFEIZ -1 §5DTIEAEL, px - 1 ZMZ
ICpx TElo7=FR Y KD B Z & T, ,%\0314575‘55'57\7539:7&

subroutine set process topology(rank, px, py, rank 1, rank_r, rank b, rank t)
implicit none
integer, intent(in) :: rank, px, py
integer, intent(out) :: rank 1, rank_r, rank b, rank t
integer :: rx, ry
rx = mod(rank, px)

ry = rank / px

rank_1 = mod(rx + px - 1, px) + px * ry

rank_r = mod(rx + 1, px) + px * ry

rank_ b = rx + px * mod(ry + py - 1, py)

rank_t rx + px * mod(th” + 1, py)
end subroutine set process “top: %%gy
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 ref boundary.c OHFH

EE/NYy 7 7DEEE (FHELAWEDIZ) KT

void set periodic_boundaries(const int nx, const int ny, float *dat, float *buf,
const int rank, const int rank_1l, const int rank_r, const int rank_ b,
const int rank_t, const int py)

/* assign send/receive buffers */

const int send 1 = 0;

const int send r = send 1 + NSLEEVE ny;
const int send b = send r + NSLEEVE ny;
const int send t = send b + NSLEEVE nx;
const int recv_1 send_t NSLEEVE nx;
const int recv_r = recv_1l + NSLEEVE ny;
const int recv_b recv_r + NSLEEVE ny;

const int recv t recv b NSLEEVE nx;
DB20/19/13 - - EtEe MPIﬁE
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EENY 77 BT — 2P EEICIHENE S ICT—X 23—
TRE T — &@%5i<ﬁ5t,:@%AM“%?§%

/* prepare send buffer */
for(int ii = @; ii < NSLEEVE; ii++)
for(int jj = @; JJ < ny; Jj++){
buf[send_1 + INDEX2D(NSLEEVE, ny, ii, jj)]
E + ii, NSLEEVE + j3)]1;
buf[send r + INDEX2D(NSLEEVE, ny, ii, jj)]
X + 1i, NSLEEVE + jj)]1;}

dat[INDEX2D(nx + 2 * NSLEEVE, ny + 2 * NSLEEVE, NSLEEV

dat[INDEX2D(nx + 2 * NSLEEVE, ny + 2 * NSLEEVE, n

for(int ii = 0; ii < nx; ii++)
for(int jj = 0; jj < NSLEEVE; jj++){
buf[send b + INDEX2D(nx, NSLEEVE, ii, jj)]
E + ii, NSLEEVE + jj)]1;
buf[send t + INDEX2D(nx, NSLEEVE, ii, jj)]

dat[INDEX2D(nx + 2 * NSLEEVE, ny + 2 * NSLEEVE, NSLEEV

dat[INDEX2D(nx + 2 * NSLEEVE, ny + 2 * NSLEEVE, NSLEEV

. i
: 292@/1@/13 +33) 15} HPLS  MPIERE 100
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* MPI_Sendrec
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BIEZE->T
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int err;
MPI Status status;

/* exchange sleeve regions */

/* horizontal exchanging */

if((rank / py) & 1){
MPI Recv(&buf[recv r],
status);
MPI_Send(&buf[send 1],
MPI Recv(&buf[recv 1],
status);
MPI Send(&buf[send r],
}
else{
MPI Send(&buf[send 1],
MPI Recv(&buf[recv_r],
status);
MPI Send(&buf[send r],
MPI Recv(&buf[recv_1],
status);

}

NSLEEVE *

NSLEEVE *
NSLEEVE *

NSLEEVE *

NSLEEVE *

NSLEEVE *

NSLEEVE *
NSLEEVE *

#EES  MPIER

ny,

ny,
ny,

ny,

ny,

ny,

ny,
ny,

MPI_FLOAT,

MPI_FLOAT,
MPI_FLOAT,

MPI_FLOAT,
MPI_FLOAT,
MPI_FLOAT,

MPI_FLOAT,
MPI_FLOAT,

rank_r,

rank 1,
rank 1,

rank_r,
rank 1,
rank_r,

rank_r,
rank 1,

rank_r

rank

J

J

rank 1,

rank

rank

J

J

rank_r,

rank

J

rank 1,

MPI_COMM_WORLD, &

MPI_COMM_WORLD);
MPI_COMM_WORLD, &

MPI_COMM_WORLD);
MPI_COMM_WORLD);
MPI_COMM_WORLD, &

MPI_COMM_WORLD);
MPI_COMM_WORLD, &
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« FFAMED
JAatXRE

GEhH
« EXICDOW
Lj:7j‘(z|zjj_ status)?
— R MPI_Send(&buf[send t], NSLEEVE
B e L }

else{

/* vertical exchanging */
if((rank % py) & 1){

MPI_Recv(&buf[recv_t], NSLEEVE
status);

status);

status);

}

MPI Send(&buf[send b], NSLEEVE *
MPI_Recv(&buf[recv_b], NSLEEVE *

MPI Send(&buf[send b], NSLEEVE *
MPI Recv(&buf[recv_t], NSLEEVE *

MPI _Send(&buf[send t], NSLEEVE *
MPI Recv(&buf[recv_b], NSLEEVE *

nx,

nx,

nx,

nx,
nx,

Bigk DA

MPI_FLOAT,

MPI_FLOAT,
MPI_ FLOAT,

MPI_ FLOAT,
MPI_FLOAT,
MPI_FLOAT,

MPI_FLOAT,
MPI_FLOAT,

rank_t,

rank b,
rank_b,

rank_t,
rank b,
rank_t,

rank_t,
rank_b,

rank_t,

rank

J

rank_b,

rank

rank

J

J

rank_t,

rank

J

rank b,

{2 : C:4/5)

MPI_COMM_WORLD, &

MPI_COMM_WORLD);
MPI_COMM_WORLD, &

MPI_COMM_WORLD);
MPI_COMM_WORLD);
MPI_COMM_WORLD, &

MPI_COMM_WORLD);
MPI_COMM_WORLD, &
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/* copy from receive buffer */

° X'f— L 7"' o /)LZ 7&, for(int ii = @; ii < NSLEEVE; ii++)

-|- _‘\ 57 7&7'?%%@'3— for(int jj = @; jj < ny; jj++){
%@575’_'] B — ii, NSLEEVE + jj)]

= buf[recv_1 + INDEX2D(NSLEEVE, ny, ii, jj)]1;

X'fmT & j:l_%Jb dat[INDEX2D(nx + 2 * NSLEEVE, ny + 2 * NSLEEVE,

AT E EE?UG)%%X# NSLEEVE + j3)]
AN = buf[recv_r + INDEX2D(NSLEEVE, ny, ii, jj)I1;

—_ 7] ~ for(int ii = 0; ii < nx; ii++)
l)ﬁi Q:I:% ) i for(int jj = ©0; jj < NSLEEVE; jj++){

{{FS & , < DS dat[INDEX2D(nx + 2 * NSLEEVE, ny + 2 * NSLEEVE,

J 33)1
75:%‘%’(% 5 = buf[recv_b + INDEX2D(nx, NSLEEVE, ii, jj)I;

VE + ny + jj)]
= buf[recv_t + INDEX2D(nx, NSLEEVE, ii, jj)1;
}

HEE4S  MPIER

dat[INDEX2D(nx + 2 * NSLEEVE, ny + 2 * NSLEEVE,

dat[INDEX2D(nx + 2 * NSLEEVE, ny + 2 * NSLEEVE,

NSLEEVE + nx + ii,

NSLEEVE + ii,

NSLEEVE + ii, NSLEE
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r\e-F boundar\y.f subroutine set periodic_boundaries(nx, ny, dat, buf, rank, rank 1, rank _r, r
- ank_b, rank_t, px)

9@ O) Ej%’ implicit none
S =

/E;&@E_Eﬁ 6]\ integer, intent(in) :: nx, ny

— 1 Sebe real, intent(inout) :: dat(nx + 2 * NSLEEVE, ny + 2 * NSLEEVE)

E-I_E—T_ ﬁ 7&1‘%%@ real, intent(out) :: buf((nx + 2 * NSLEEVE) * (ny + 2 * NSLEEVE))

—d—%@aaﬂ—l dat Lj: integer, intent(in) :: rank, rank_1, rank_r, rank b, rank_t, px
zmﬁﬁaﬁu integer :: send 1, send r, send b, send t

9é_’1 integer :: recv_1l, recv_r, recv_b, recv_t
KR D /Ny
15? ; [/ T{E _g_ integer :: ii, jj
‘/7; integer :: err
gé&ﬁifb‘iﬁgjt integer :: status(MPI_STATUS SIZE)
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g assign send/receive buffers

send 1
send_r
send b

send_t
recv_1
recv_r
recv_b
recv_t

1

send 1
send_r
send b
send_t
recv_1
recv_r
recv_b

NSLEEVE
NSLEEVE
NSLEEVE
NSLEEVE
NSLEEVE
NSLEEVE
NSLEEVE

ny
ny
nx
NnXx
ny
ny
nXx

)
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EENY 77 EICT— 2P EFEICHERNL D ICT—X%Z I —
RET—XBI% S5 FL([EH &, ZOERITBEETE S

prepare send buffer
do jj =0, ny -1

do ii = @, NSLEEVE - 1
buf(send_ 1 + ii + NSLEEVE * jj) dat(1 + NSLEEVE + ii, 1 + NSLEEVE + jj)
buf(send r + ii + NSLEEVE * jj) dat(1 + nx + ii, 1 + NSLEEVE + jj)
end do
end do
do jj = @, NSLEEVE - 1
do ii = 0, nx - 1
buf(send b + ii + nx * jj) dat(1 + NSLEEVE + ii, 1 + NSLEEVE + jj)
buf(send t + ii + nx * jj) dat(1 + NSLEEVE + ii, 1 + ny + jj)
end do

end do
2026./19 /13
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if(iand(mod(rank, px), 1) == 1) then
call MPI_Recv(buf(recv_r), NSLEEVE * ny, MPI_REAL, rank _r, rank _r, MPI_COMM_WORL
D, status, err)
call MPI_Send(buf(send 1), NSLEEVE * ny, MPI_REAL, rank 1, rank , MPI_COMM_WORL
D, err)
call MPI_Recv(buf(recv 1), NSLEEVE * ny, MPI_REAL, rank 1, rank 1, MPI_COMM_WORL
D, status, err)
call MPI Send(buf(send r), NSLEEVE * ny, MPI_REAL, rank _r, rank , MPI_COMM_WORL
D, err)
else
call MPI Send(buf(send 1), NSLEEVE * ny, MPI REAL, rank 1, rank , MPI_ COMM WORL
D, err)
call MPI_Recv(buf(recv_r), NSLEEVE * ny, MPI _REAL, rank _r, rank_r, MPI_ COMM WORL
D, status, err)
call MPI_Send(buf(send r), NSLEEVE * ny, MPI _REAL, rank r, rank , MPI_ COMM WORL
D, err)
call MPI_Recv(buf(recv_1l), NSLEEVE * ny, MPI_REAL, rank_1l, rank_1, MPI_COMM_WORL
D, status, err)
end if

HES I MPIEMR
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RS

vertical exchanging

if(iand(rank / px, 1) == 1) then

call MPI_Recv(buf(recv_t),
status, err)

call MPI_Send(buf(send b),
err)

call MPI_Recv(buf(recv_b),
status, err)

call MPI_Send(buf(send t),

err)
else
call MPI_Send(buf(send b),
err)

call MPI_Recv(buf(recv_t),
status, err)
call MPI_Send(buf(send t),
err)
call MPI_Recv(buf(recv_b),
status, err)
end if

NSLEEVE

NSLEEVE

NSLEEVE

NSLEEVE

NSLEEVE

NSLEEVE

NSLEEVE

NSLEEVE

#EES  MPIER

nx,

nx,

nx,

nx,

MPI_REAL,
MPI_REAL,
MPI_REAL,

MPI_ REAL,

MPI_REAL,
MPI_REAL,
MPI_REAL,

MPI_REAL,

rank_t,
rank_b,
rank_b,

rank_t,

rank b,
rank_t,
rank_t,

rank_b,

rank_t,
rank
rank b,

rank

rank
rank_t,
rank

rank b,

MPI_COMM_WORLD,
MPI_COMM_WORLD,
MPI_COMM_WORLD,

MPI_COMM_WORLD,

MPI_COMM_WORLD,
MPI_COMM_WORLD,
MPI_COMM_WORLD,

MPI_COMM_WORLD,
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° ﬁ ; L 7'—— vl 57 75: E ;%: I copy from receive buffer
_\\ I do JJ =0, ny -1
052 %¢§%WT%@E§J do ii = @, NSLEEVE - 1
b — dat (1 + ii, 1 + NSLEEVE + jj) = buf(recv_
= —» 5 ii + NSLEEVE * jj)
° §1_7__§' il—ﬁi dat(1 + NSLEEVE + nx + ii, 1 + NSLEEVE + jj buf(recv_

o SHHERIE| D EEFREHIRL ii + NSLEEVE * j3j)
#%%Vﬂ end do
o end do
N < do jj = @, NSLEEVE - 1
.l)ﬁé:T—ﬁg_}é%’)i<1§ Ogjcj)j_j_ze, nx - 1
S&, TOENEEERT dat(l + NSLEEVE + ii, 1 j3) = buf(recv_

ii + nx * jj)
% %) dat(1 + NSLEEVE + ii, 1 + NSLEEVE + ny + jj buf(recv_
ii + nx * jj)
end do
end do
end subroutine set periodic_boundaries
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* ref_scatter.c OH 5
« B7ALRETDT — XHEFICILREK D

void scatter _map(const int nx_tot, const int ny tot, float *map_ful, float *buf ful,
const int nx, const int ny, float *map_loc, float *buf_loc,
const int py, const int rank, const int size)
{
/* prepare send buffer */
if(rank == 0){
for(int dst = 0; dst < size; dst++){
const int rx = dst / py;
const int ry = dst % py;
for(int ii = 0@; il < nx; ii++)
for(int jj = 0; jj < ny; jj++)
buf ful[dst * nx * ny + INDEX2D(nx, ny, ii, jj)] = map_ ful[INDEX2D(nx_tot, ny tot,
rx * nx + ii, ry * ny + jj)];

¥
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e MPI Scatter() ZHAWTT— 2 %%

R ET—XR%, ERFHERHOOIO-XMEILZEAT) FTER
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il

/* scatter the data */
int err = MPI_Scatter(buf_ful, nx * ny, MPI FLOAT, buf loc, nx * ny, MPI FLOAT, ©, MPI
_COMM_WORLD) ;

/* copy from receive buffer */
for(int ii = 0; ii < nx; ii++)
for(int jj = @; jj < ny; jj++)
map_loc[INDEX2D(nx + 2 * NSLEEVE, ny + 2 * NSLEEVE, NSLEEVE + ii, NSLEEVE + jj)] =
buf loc[INDEX2D(nx, ny, ii, jj)];
}
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— X DOfd% (Fortran:1/3)

e ref scatter.c OHFH
c BHDEF

subroutine scatter _map(nx_tot, ny tot, map ful, buf ful, nx, ny, map_1lo
c, buf loc, px, rank, size)
implicit none

integer, intent(in) :: nx_tot, ny tot, nx, ny, px, rank, size
real, intent(in) :: map_ful(nx_tot, ny tot)
real, intent(out) :: map_loc(nx + 2 * NSLEEVE, ny + 2 * NSLEEVE)

real, intent(out) :: buf loc((nx + 2 * NSLEEVE) * (ny + 2 * NSLEEVE))
, buf ful(nx_tot * ny tot)

integer :: rx, ry, dst
integer :: 1ii, jj

integer :: err
0443
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il

e XTHOVLRBTCOT —RXAEREICHNELSICT—X A2 —

g prepare send buffer
if(rank == @) then
do dst = 9, size - 1
rx = mod(dst, px)
ry = dst / px
do jj =0, ny - 1

do ii = 0, nx - 1
buf ful(1l + dst * nx * ny + (ii + nx * jj))
= map_ful(l + rx * nx + ii, 1 + ry * ny + jj)
end do
end do
end do
end if
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e MPI Scatter() ZHAWTT— 2 %%
cZET 2%, (ERFHHAOI-—XbtELZEAT) FERE
FlNE O —

RS scatter the data
call MPI Scatter(buf ful, nx * ny, MPI REAL, buf loc, nx * ny, MPI REAL, O, MP
I _COMM_WORLD, err)

S copy from receive buffer
do jj = 0, ny - 1
do ii = 0, nx - 1
map_loc(1l + NSLEEVE + ii, 1 + NSLEEVE + jj) = buf_loc(1 + ii + nx * jj)
end do
end do
,0,618,,subroutine scatter_map T ———
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il

e ref gather.c OH 5

. 9%:. T — X % L7212, MPI_Gather() T rank = 8 ~
BFS S

void gather_map(const int nx_tot, const int ny tot, float *map ful, float *buf_ful,
const int nx, const int ny, float *map_loc, float *buf_loc,
const int py, const int rank, const int size)
{
/* prepare send buffer */
for(int ii = @; ii < nx; ii++)

for(int jj = 0; jj < ny; Jjj++)
buf loc[INDEX2D(nx, ny, ii, jj)] = map_loc[INDEX2D(nx + 2 * NSLEEVE, ny + 2 * NSLEEVE, NSLEEVE
+ ii, NSLEEVE + jj)];

/* gather the data */
int err = MPI_Gather(buf loc, nx * ny, MPI_FLOAT, buf ful, nx * ny, MPI _FLOAT, @, MPI_COMM _WORLD);
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/* copy from receive buffer */
if(rank == 0){
for(int dst = 0; dst < size; dst++){
const int rx = dst / py;
const int ry = dst % py;

for(int ii = 0; ii < nx; ii++)
for(int jj = 0; jj < ny; Jjj++)
map_ful[ INDEX2D(nx_tot, ny_ tot,
= buf_ful[dst * nx * ny + INDEX2D(nx, ny, ii, jj)];
}
}
}

25:2/2)
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rx * nx + ii, ry * ny + jj)]




BTr—X0DOUNE&E (Fortran:1/3)

il

* ref gather.f90 OH 5
EHDES
subroutine gather_map(nx_tot, ny tot, map_ ful, buf ful, nx, ny, map_loc

, buf_loc, px, rank, size)
implicit none

integer, intent(in) :: nx_tot, ny tot, nx, ny, px, rank, size
real, intent(out) :: map_ful(nx_tot, ny tot)
real, intent(in) :: map_loc(nx + 2 * NSLEEVE, ny + 2 * NSLEEVE)

real, intent(out) :: buf loc((nx + 2 * NSLEEVE) * (ny + 2 * NSLEEVE))
, buf ful(nx _tot * ny tot)

integer :: rx, ry, dst
integer :: ii, jj
integer :: err

04173
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 EKET — X Z#E(H L 72212, MPI_Gather() T rank = 0 ~
&IxfE

il

g prepare send buffer
do jj =0, ny - 1
do ii = 0, nx - 1
buf loc(l + ii + nx * jj) = map_loc(1l + NSLEEVE + ii, 1 + NSLEEVE + jj)
end do
end do

S gather the data
call MPI_Gather(buf loc, nx * ny, MPI_REAL, buf ful, nx * ny, MPI REAL, 0, MP

I COMM _WORLD, err)
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— X DOUNE (Fortran:3/3)

il

. r'ank = i SELI-T X227 74 /VENAOERIANE DL —
/»775: ICAERBZEITHELH S

g copy from receive buffer
if(rank == @) then
do dst = 0, size - 1
rx = mod(dst, px)
ry = dst / px
do jj =0, ny - 1

do ii = 0, nx - 1
map_ful(l + rx * nx + ii, 1 + ry * ny + jj)

= buf ful(l + dst * nx * ny + (ii + nx * jj))

end do

end do
end do
end if e

end subroutine gather_ma//
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